SMT 2021 PowERrR ROUND APRIL 17, 2021

Time limit: 80 minutes.
Maximum score: 198 points.

Instructions: For this test, you work in teams of eight to solve a multi-part, proof-oriented series
of problems.

Problems that use the words “compute”, “list”, or “draw” only call for an answer; no explanation or
proof is needed. Unless otherwise stated, all other questions require explanation or proof. Answers
should be written on sheets of scratch paper, clearly labeled, with every problem on its own sheet.
If you have multiple pages for a problem, number them and write the total number of pages for
the problem (e.g. 1/2, 2/2).

Indicate your team ID number on each of paper that you submit. Only submit one set of solutions
for the team. Do not turn in any scratch work.

In your solution for a given problem, you may cite the statements of earlier problems (but not later
ones) without additional justification, even if you haven’t solved them.

The problems are ordered by content, NOT DIFFICULTY. It is to your advantage to attempt
problems from throughout the test.

No calculators.
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1 Primes and Squares

Written by Aditi Talati, Bruce Xu, David Lin.

For the entirety of this problem, assume that p is a prime number.

1.1 The rules of mod p arithmetic

In the world of modular arithmetic, we only care about the remainder of a number when dividing
by p. We say that a is congruent to b (modulo p) if p divides a — b (sometimes written as a = b
(mod p)). Here are some valid statements we could also say:

e 9 is congruent to 2 (mod 7). 9 is 2 (mod 7). 10 is not 2 (mod 7).
e —2is5 (mod 7), and it is also 12 (mod 7).

e 26 is 5 (mod 7), and 31 is 3 (mod 7), so 26 + 31 should be 3 + 5 (mod 7), also known as 1
(mod 7).

26 x 31 is 3 x 5 (mod 7), which is also 1 (mod 7)

The set S = {0,1,7,8} (mod 7) has size 2. (Equivalently, there are exactly 2 possible re-
mainders obtained from dividing elements of S by 7.)

14 x5=701is 0 (mod 7), so we expect one of 14 or 5 to be 0 (mod 7).

The polynomial 22 — 4z + 1 is (z + 1)? (mod 3). The polynomial x? — z is not 0 (mod 3),
even though substituting any integer value of a, a®> —a =0 (mod 3).

Here is some practice with this idea:

1. Compute the following expressions (mod 7), giving an integer between 0 and 6 (inclusive) as
your answer:

(a) [1] 345
(b) [1] 2—10
(c) [1] 10 x 10
(d) [1] 102021

What about division modulo p? Unfortunately, our definitions don’t make sense for rational num-
bers, but we’ll show some sense in which division is possible.

2. (a) [1] Find an integer k such that 5k =1 (mod 7), with 0 < k < 7.

(b) [1] Show that for the above k, k- (5n) = n (mod 7) (and thus this k& deserves the name
“5=1 (mod 7)").

It is true in general that some number deserves the name a~' (mod p), as long as a is not 0
(mod p). (We cannot have 0~1!)

3. (a) [1] If a # 0 (mod p), prove that for any integers = and y, if ax = ay (mod p), then
x =y (mod p).

(b) [1] If @ # 0 (mod p), show that there is some element of P, which we will call b, such
that ab =1 (mod p).
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(Hint. Consider the set {0,a,2a,---,(p—1)a}.)

(¢) [1] Now we explicitly find one such b. If a # 0 (mod p), show that a?~* = 1 (mod p).
(This also means that a?~2 is a=! (mod p).)

Hint. Consider the set {a,2a,---,(p — 1)a}. What is the product?
(d) [2] (Sanity check) Suppose a,b,c # 0 (mod p) are positive integers satisfying

1 1 1
- 4+-+-=1
a b ¢

Show that a=! + b7t + ¢! =1 (mod p).
Now we solve an IMO problem. There aren’t many points given because IMO problems are easy.

4. (a) [1] Define the sequence
a, =2"+3"+6"—-1, n>1.

Show that any prime p > 5 will divide a,_s.
(b) [1] (IMO 2005 Q4) Conclude that the only natural number coprime to every term in the
sequence {a,} is 1.
1.2 Quadratic things
In this section, we try to figure out when something deserves the name y/—1 (mod p). E|

5. Assume p is an odd prime. Let’s try to partition the elements of {1, -+ ,p — 1} into sets of
the form {a, —a,a™!,—a~'} (mod p). As an example, for p = 7 we have the sets

{1,6},{2,5,4,3}

(a) [3] Do this for p = 5,11,13.

(b) [2] In general, figure out which a causes the set {a, —a,a™!, —a~!} (mod p) to have size
less than 4.

(c) [2] Show that the solution set of a? + 1 =0 (mod p) has size 0 or 2.

(d) [2] Conclude that the equation a? + 1 = 0 (mod p) has a solution if and only if p = 1
(mod 4). (When they exist, these values of a deserve the name ++/—1!)

Generally, if a number s has a square root ++/s (mod p), we say that s is a quadratic residue.
Likewise, if s doesn’t have an appropriate square root then s is a quadratic non-residue.

What about v/2 (mod p)?

6. [7] For which p does a®> — 2 = 0 (mod p) have a solution? As a hint, we would like to start
by partitioning the elements of {1,---,p — 1} into sets of the form

B

1 1 a+1 a+1a-1 a-1
a,—a,—, —— — , , —
" 7a a’a—1 a—-1a+1 a+1

} (mod p)

where we omit the degenerate elements that are 0 or divide by 0.

!Technically, we only ever know if it is either v/—1 or —v/—1.
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1.3 Fermat’s two square theorem, via windmills

Surprisingly, we can use “grouping” techniques in contexts that aren’t purely modulo p. Here, we
will show Fermat’s two-square theorem...

Theorem. (Fermat) If p=1 (mod 4), then p can be expressed as the sum of two perfect squares.

...using windmills!

7. [7] An integer rectangle is a rectangle whose side-lengths are integers. A windmill is a
shape formed by removing 4 congruent integer rectangles from an integer square at the corners
such that the resulting shape is rotationally-symmetric. A blade partition of a windmill is
a rotationally-symmetric way to cut it into a square and 4 congruent rectangles. (A windmill
may have more than one blade partition!)

Consider all windmills of area p. Show that the total sum of the number of blade partitions
among these windmills is odd. Conclude Fermat’s two-square theorem.
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2 Around and around

Written by Zhao Yu Ma, David Lin.

2.1 Introduction
In this section, we will be looking at the winding number of a loop around the origin.

A loop is a path not passing through the origin that returns to where it started off. More rigorously,
we define it as a continuous function 7 : [0, 27] — C — {0} such that v(0) = v(27).

Intuitively, the winding number of a path « is the total number of times that the loop travels
counter-clockwise around the origin. The winding number is denoted as w(7).

If we imagine a loop as a slack rope tied around a pillar (going from the floor to the ceiling),
then it is clear that without untying or cutting the rope, the number of times that the rope winds
around the pillar must stay constant. In mathematical terms, winding number is preserved under
“continuous deformation”.

2.2 An integral formula

Here, we give an explicit formula for the winding number.

One approach is as follows: define a continuousﬂ function 6 : [0,27] — R where
0(s) = arg(y(s)) (mod 2m),  6(0) =0

In words, 6 is the angle between a ray pointing in the direction of 7(s) and the positive z-axis.
Then, the angle that this ray rotates around the origin will be #(2x). Dividing this by 27 yields
the winding number.

Let’s try out an example to see how this works.

8. [2] Sketch the functions 6(s) for a loop around a unit circle, and a figure 8, where origin is in
one of the holes. (Keep in mind that you should be able to draw the graphs without lifting
your pen off the paper!)

AN ﬁlﬂ(u

r Ret2) Re(a)

Show that the winding number of both loops are the same.

Our earlier intuition about continuous deformation tells us why this is the case: the figure 8 can
continuously deform to the unit loop, so they must share the same winding number.

If v is differentiabl (i-e. the derivative 7/(s) = £~(s) = limj,9 M exists), we can also

2For the purposes of this section, this means that you can draw the graph of § without lifting your pen off the
paper. An implication is that 6 is well-defined (even though we will only define it modulo 27).
3strictly speaking, v should be continuously differentiable, i.e. 4’ should also be continuous.
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come up with the following equation for the winding number

LTy,
wi) = g [ T (1)

9. (a) [1] Show that ¢?() = 2.

(b) [2] Assuming that 6 is differentiable, show that i6’(s) = 77/((85)) - l\”YY ((SS))‘ll'

(c) [2] Prove equation (1) assuming both +, § are differentiable. Recall that w is the number
of times that v winds around the origin. (Hint. How do you read off w from the graph

of 02)

Here are some properties of winding numbers, that we will be using frequently in the later sections.
Use equation (1) to prove the following:

10. (a) [2] Let f:[0,27x] — C — {0} be a loop. Show that w(%) = —w(f).

(b) [2] Let f,g,h : [0,27r] — C — {0} be loops. If h(z) = g(z)f(z), Show that w(h) =
w(g) +w(f).

Given real 7 > 0, let ,.(6) = re? be the loop of radius 7 clockwise around the origin. We will often
be looking at paths of the form ~,, as well as composition of functions with ~,.

11. [2] Let f(z) = .. Using equation (1), calculate the winding numbers w(v, ), w(f o 7,) for
r > 0.

Usually, we do not use equation (1) to calculate the winding number every time as that is too
tedious. From now on, unless otherwise stated, you may intuitively justify the values
of any winding number (as the number of times the loop travels counter-clockwise around the
origin).

12. Sketch f o~; for each of the following functions, and deduce the winding number w(f o v1).
(a) [1] z+2
(b) [1] 222+ 2
(c) [1] 2%+ 2
(d) ] z+3

2.3 A winding problem

13. As an application, we would like to show that all the roots of the polynomial 928 +8iz"+8iz—9
lie on the unit circle centered around the origin (|z| = 1).
(a) [2] Show that if |z| = 1, then [92® + 8iz"| = |8iz — 9.
(b) [3] Let f(2) =27, g(2) = 92 + 84, h(z) = 8iz — 9. Sketch the loops f o~y1,g0v1,h o1,

and deduce their respective winding numbers w(f o y1),w(g o v1),w(h o v1).

(c) [1] Let k(2) = %. Calculate the winding number w(k o 7).

(d) [1] Show that there are at least 8 distinct roots when |z| = 1, and prove the problem
statement.
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2.4

Fundamental theorem of algebra

We will prove the fundamental theorem of algebra, which states that every non-constant single-
variable polynomial with complex coefficients has at least one complex root

For simplicity, we will prove it for our favorite cubic polynomial p(z) = 23 + 422 + 17z + 2021.
Assume the contrary, that p(z) has no (complex) root.

14.

2.5

(a) [3] Write p(2) = 23f(2). Show that for sufficiently large , Re(f o~,) > 0. Sketch f o,
and deduce the winding number w(f o+, ), and w(p o ~,).

(b) [2] In a similar way, find the winding number w(po~yp). (Hint: your answers for w(po-~,)
and w(p o vp) should be different.)

However, we can continuously deform p o, to p o 79 by gradually decreasing r to 0. We
know that the winding number is invariant under continuous deformation, so this leads to a
contradiction, which finishes the proof.

Here is a quick concept check:

(c¢) [1] Why did we need the assumption that p(z) has no root?

Brouwer’s fixed point theorem

We will look at Brouwer’s fixed point theorem which states that given a closed disk D = {z | |z| < 1}
and a continuous function f: D — D, there exists a point z € D such that f(z) = .

15.

16.

[1] To get a feel of what this theorem is saying, we show that a slight modification is false.
Construct a continuous function f: D\ {0} — D\ {0} such that for every point z € D\ {0},

f(z) # 2.

Let’s prove the theorem. Like the previous section, we start off by assuming that there is no
such fixed point, which means that f(z) # z for all z € D. This means that we may draw a
ray from z to f(z), which intersects the unit circle again at g(z).

Just like the previous parts, we will compute two different values for w(g o ;).
(a) [2] Find w(g o).
(b) [1] Find w(g o ~0)-

These two values are different! We want to continuously deform g o-~y; to g ovy. However, to
do this, we need the condition that g is a continuous function, which we will prove here.

(c) [3] Let z=a+bi, f(z) = c+ di. Write g(2) = f(z) + A(z — f(2)) where A € R>g. Find
an expression for A\ in terms of a,b,¢,d. (It will involve polynomials of a,b, ¢, d, and
square-roots.) Argue that the term in the square-root is never negative. (The resulting
function will be continuous in z and f(2)!)

This means that A is continuous in the two variables z, f(z). Since f(z) is also continuous in
z, we can conclude that g(z) is continuous.

Now, we can continuously deform g oy to g o 79, so the winding numbers for must be the
same, leading to a contradiction.

A final question:
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(d) [1] Where exactly in the argument did we use the assumption that f has no fixed point?

2.6 Sperner’s lemma

Sperner’s lemma is the discrete, combinatorial analog of Brouwer’s fixed point theorem. In fact,
both theorems are equivalent!

Theorem. (Sperner’s Lemma) Given a triangle ABC, and a triangulationﬁT of the triangle, the
set S of vertices of T is colored with three colors (labelled r, g, y) satisfying the following conditions:

(1) Every vertex on side AB is colored r or g,
(2) Every vertex on side AC is colored r or y,
(3) Every vertex on side BC' is colored g or y.

Then, there exists a triangle from 7', whose vertices are colored with the three different colors.

17. [5] Prove Sperner’s lemma.

(Hint. The main idea is extremely similar to the proof of Brouwer’s fized point theorem!
Associate the colors T, g,y to the points 1,e2™/3 e2m/3 jn C — {0}. Can you define a discrete
version of winding number? What about a discrete version of continuous deformation?)

4A triangulation of a figure is a partition of the figure into triangles such that the intersection between any two
triangles is either empty, a single vertex or an entire edge (for both triangles).
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3 Cyclotomic Polynomials

Written by Bruce Xu, David Lin.

The section will be centered around cyclotomic polynomials, which play an important role in number
theory (in particular algebraic number theory), Galois Theory and Geometry. There are many ways
that these polynomials can be introduced, and this exposition offers only one perspective. We will
define, motivate and build up to some important results about these polynomials.

3.1 Euler’s Totient Function

The notion of being relatively prime is central in the study of numbers. Heuristically speaking, when
we analyse structures that are relatively prime to each other, this gets rid of all of the unnecessary
“fluff” and “padding” of the problem.

18. (a) [3] Let ¢(n) denote the number of integers k that are less than or equal to n such that
n and k are relatively prime. Calculate ¢(5), ¢(15), ¢(45).

(b) [2] Find and prove a general formula for ¢(n) if n = p’fl pé” ...p;” is the prime factorization
of n.

19. Consider the fractions:

2 n
- seey
n

1
Ty
n n

Reduce them to their most primitive form (i.e. the numerator and denominator are coprime).

(a) [1] How many fractions are there for each given denominator, and how many denomi-
nators are there?

(b) [1] Prove that 3_;,, ¢(d) = n.

20. [2] A place that the ¢ function shows up is Euler’s Theorem, which is an extension of Fermat’s
Little theorem. Prove that for coprime integers a and n:

a®™ =1 (mod n).

3.2 Towards Cyclotomic Polynomials
The difference of squares factorisation is ubiquitous in many areas of mathematics.
?2—1=(z+1)(z-1)
So is the factorisation of 2% — 1:
1= —-1)(a®+z+1)

Going furhter, we can write 2" — 1 as a product of integer polynomials (polynomials with integer
coefficients) for larger and larger n:

1= -1)E*+1)=(z—-1)(z+1)(z?+1)
2’ 1= (r—1)(a*+2° +2* +z+1)
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We see that at each successively higher power, we are introducing brand new polynomials. Just as
how we decompose n = 0,1,2,3,--- into prime factors, we are now moving towards decomposing
polynomials 2" — 1 = o — 1,22 — 1,23 — 1,--- into “prime” (irreducible) polynomials. We could
imagine giving these polynomial names:

23— 1 =& (z)P3(z)

2t =1 = & (2)Py(z) Dy ()

This is, however, not a rigorous definition. For that, we can think about what happens if we allow
factorization using complex coefficients. The polynomial ™ — 1 has n distinct complex roots given
by {62”"3/”}/6:071727... n—1, so it admits the factorization

2" —1=(z—1)(@—C) o (z— ¢
where ¢, = €2™/". We see that the new (yet undefined) ®,, must be a product of some subset of

these factors.

Define the n-th cyclotomic polynomial as the following:

O, (z) =(x— )z —C2)...(x — (k)

where (1, (2, ..., (x are all of the the n-th primitive roots of unity. Recall that complex number z is
an n-th root of unity if and only if 2" = 1. Furthermore, we see that z is a primitive n-th root
of unity if 2™ #£ 1 for alm=1,2,3,...,n — 1.

21. For two monic integer polynomials f(z), g(x) (i.e. their leading coefficient is 1), define their
greatest common divisor of two polynomials to be the monic polynomial h(z) of the
maximal degree that divides both f(z) and g(x).

(a) [2] Show that the greatest common divisor of the polynomials z% — 1 and x° — 1 is equal
to zeed(@d) _ g,
(b) [3] Factor 27 — 1, #'2 — 1, 22" — 1 completely into integer polynomials.
22. (a) [1] Describe a bijection between the fractions in 1,2, .. 2 and n-th roots of unity such
that a (reduced) fraction with denominator d is mapped to a primitive d-th root of unity.

(b) [2] Prove that [, ®4(x) = 2" — 1.

23. [2] Demonstrate that the n-th cyclotomic polynomial ®,(z) is the largest (by degree) poly-
nomial that divides ™ — 1 but is coprimeﬁ to each z* — 1 for any k < n.

24. (a) [3] Find @7($), (1)12($), (1)27($).
(b) [2] Write a general formula for ®,(z), where p is a prime number. What about @, (x)?

(c) [2] Similarly, find a general formula for ®g,(z) and subsequently ®ox,(x) where p is a
prime number and k is a non-negative integer.

(d) [1] Now find a general form for the polynomial ®,,,(z) where p does not divide m in
terms of ®,,(z).

5Two monic integer polynomials are coprime if the only monic integer polynomial that simultaneously divides
both is 1.

10
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25. [3] It seems that we have taken for granted that Cyclotomic Polynomials are guaranteed to
have integer coefficients. Prove that this fact holds for all @, (x).

26. (a) [1] Factorize z* + 22 4+ 1. (Hint. Add and subtract x2.)
(b) [3] Factor ®,(2*) into cyclotomic polynomials of z.

27. [2] Demonstrate that for any a positive integer n > 1, it is the case that ®,(1) = 1 if n is not
a prime power and ®,,(1) = p if n is a prime power of p (Hint. Induction!)

Surprisingly, we are already able to prove some nontrivial statements that don’t explicitly involve
cyclotomic polynomials. Here is one example:

28. [5] Show that there are infinitely many n such that every prime factor of 2 — 1 is at most
on/2021

3.3 Irreducibility

So far, we’ve managed to express 2" — 1 as a product of cyclotomic polynomials:

" —1= Hfbd(x).

dln

This begs the question: can we factorize this any further? In this section, we show that the answer
is no: ®,(z) is irreducible, which means that it is not the product of two (non-constant) integer
polynomials. This concept should remind you of the prime numbers among the natural numbers;
irreducible polynomials are the “primes” among polynomials.

Showing polynomials are irreducible isn’t easy. Have a stab at one example of it:

29. [5] Show that 2% — 2 — 1 is irreducible. (Hint. Suppose you can factor it as f(x)g(x). If f is
linear, then it is x + 1, which can’t happen. Otherwise, f is quadratic and g is cubic, and the
constant terms are 1, —1 respectively. What can you say about the other coefficients?)

In general, we can’t just get by brute-force case consideration. There are some other methods (for
instance, looking at the size of the complex roots), but we’ll look at one in particular, which is to
think about polynomials “mod p”. We recap some usual notions of polynomials mod p:

e The polynomial 22 — 4z + 1 is (z + 1)? (mod 3). The polynomial 2> — x is not 0 (mod 3),
even though substituting any integer value of a, a® —a =0 (mod 3).

e 322 + 3z + 1 is constant (mod 3) because it is 1 (mod 3). The degree of 322+ +1 (mod 3)
is 1, but the degree of 322 4+ x + 1 is 2.

We will first show that ®,(x) is irreducible for prime p. Recall that ®,(z) = Z=L.

x—1

30. (a) [2] Show that ®,(x) = (x — 1)L (mod p). (Hint. It might be easier to first show that
2P —1=(x —1)P (mod p))

(b) [3] (Eisenstein’s Criterion) Suppose f(y)g(y) = »?~! (mod p), and f, g are monic and
nonconstant mod p. Conclude that the constant term of f(y)g(y) is divisible by p?.

(c) [1] Conclude that ®,(x) is irreducible. (Hint. We’ve computed the constant term of
O, (y+ 1) before! Where?)

11
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Showing that all cyclotomic polynomials are irreducible is far more difficult, and the same trick
doesn’t work. Strangely enough, we will still be considering mod p, but in a completely different
way. The following proof is due to Landau:

31. Let f be any irreducible polynomial dividing ™ — 1, and p be a prime that does not divide
n. We will show that f(z) dividesﬁ f(z*) for all k coprime to n.

(a) [2] Check that this is true for f = ®,, (even though we don’t know it’s irreducible yet).

Somehow, this is easier if we assume that & is a large prime p. Here is (informally) why (that
f(x) divides f(aP) for any large prime p):

e If ( is a root of f(x) (by assumption, one of the n-th roots of unity), then we just need
f(¢r) =0.

e But f(¢P) = f(¢)? = 0 (mod p), so p divides f(¢(P) = f(¢P™°4™), which is “small”, so
for large enough p, f(¢P) = 0.

This is not meant to be a real proof (there are many badly defined things!) but we will make
this rigorous by considering polynomials.

(b) [2] Show that for prime p, p divides f(zP) — (f(x))P.
(¢) [2] Now suppose p =k (mod n), 0 <k <n — 1. Then, show that

f(a?) = f(a)? = f(a*)  (mod f(z))]]

(d) [3] Suppose pg(x) = h(x) (mod f(x)) where g, h are integer polynomials, and further-
more deg h < deg f. (By assumption, f is monic.) Show that p divides h.

(e) [3] Show that for integer polynomials h, f (with f monic), if h(z) is a multiple of p
(mod f(x)) for infinitely many primes p, then f divides h. Conclude that f(z) divides
f(zP) for all large primes p. (Do not assume Dirichlet’s theorem on primes in arithmetic
progressions. )

(f) [3] Show that for any k coprime to n, we can pick some N = k (mod n) such that it
does not have any prime factors smaller than C. Conclude that f(x) divides f(x*) for
any k coprime to n.

This means that if an irreducible f dividing 2™ — 1 has a primitive n-th root of unity ¢ as a
root, then it must also have every ¥ as a root, for any k coprime to n. Hence ®,(z) divides
f(x) and so ®,, is irreducible.

Thus, we will have successfully factorized z' — 1 into irreducible polynomials. Not only that,
the fact that ®,, is irreducible means that all the primitive n-th roots of unity are “algebraically
indistinguishable”. Here is the practical implication you should remember.

32. (a) [1] If ¢ is a primitive n-th root of unity, and P((,) = Q((,,) for integer polynomials P, Q,
then P(C*) = Q(¢F) for all k coprime to n. (You might already be familiar with the case
n = 4!)

(b) [5] Show that there are only finitely many n for which the sum of k primitive n-th roots
of unity is a nonzero integer.

5This means that there exists an integer polynomial g(z) such that f(z*) = g(z)f(x).
"We write g(z) = h(z) (mod f(x)) if f(x) divides g(z) — h(x).

12
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3.4 Arithmetic Functions and Mobius inversion

Back to the equation

" —1= H@d(x).

dln

This gives a recursive formula for ®,,, but one can’t help but wonder if it were possible to get a
direct formula.

Here, we consider the related setting where we have two functions f, F' : N — R, where F' is defined
by
F(n)=) f(n).

dn

Could we recover f from F'? Perhaps! If 7 is the number of divisors of n, then given the values
of F', we will have a system of 7 equations in the 7 variables {f(d)}q,. With some luck, this is
solvable!

33. It turns out that this is always solvable. Suppose that for m dividing n,
f(m) = Z Cn,d,mF(d)
din

(a) [2] For n = 12, write down these equations for all m dividing n. (Your ¢, 4.,’s should
be replaced by actual numbers! For instance, for n = 2, we expect the two equations
f(1)=F(1) and f(2) = F(2) — F(1).)

(b) [1] In general, why is this always solvable?
(c) [1] Argue that ¢, g, does not depend on n (and thus we may write it as ¢gm).

(d) [3] Argue that ¢4, only depends on m/d (so ¢qm = p(m/d) for a function ). Describe
the function u. (Hint. Try out small values!)

The formula

fn) =7 nu(n/d)F(n)

dln
has a name: the Mobius inversion formula.
34. Here are some fun applications:

(a) [2] (Euler’s Totient, revisited) Using our newfound knowledge about u, prove the formula
for ¢.

(b) [2] Write down a non-recursive formula for ®,,.

(¢) [2] Show that the primitive n-th roots of unity sum to p(n). (This is quite useful for an
earlier problem, but I'm not telling you which!)

35. For this problem, we will analyze cyclotomic coefficients and deduce some nontrivial facts
about the coefficient of ®,,(z) given some control over n.

(a) [5] Consider cyclotomic polynomials of the form ®,,(z) where p and g are distinct primes.
Demonstrate that the coefficients of ®,4(x) lie within the set {0, £1}. We call such a
cyclotomic polynomial flat.

13



SMT 2021 PowERrR ROUND APRIL 17, 2021

(b)

(Hint. The largest number that cannot be represented as xp + yq for some x,y € N is
exactly ¢p(pq) —1.)

[7] Are there cyclotomic polynomials which are not flat? Justify your answer.

3.5 Cyclotomy and Primes

The structure of cyclotomic polynomials gives us interesting consequences about the primes that
divide a™ — 1.

36. This problem concerns special cases of the Dirichlet’s Theorem on Arithmetic Progressions,
which states that for any coprimes k.n, there are infinitely many primes which are & (mod n).
We will only be able to show this for k = 1.

(a)

(b)

[1] Here’s a familiar case. Prove that if p is a prime and x is an integer, then if p | 2% +1
then p =1 (mod 4). As a consequence, show that there are infinitely many primes that
are = 1 (mod 4).

[5] Show that for every positive integer n and integer a > 1, any prime factor of ®,(a)
is either 1 (mod n) or divides n. Conclude that there are infinitely many primes that
are = 1 (mod n).

37. Here is an even better version of the above. For this problem, we will prove the following
theorem:

Theorem. (ineffective Zsigmondy) For all a > 2021, n > 3, there exists a prime factor of
a™ — 1 which does not divide a™ — 1 for any m < n.

(a)

(b)

()

(d)

[2] Show that this theorem implies that there are infinitely many primes which are 1
(mod n) for n > 3.

[1] Here’s a baby version of what we want to prove. Show that there exists a prime
factor dividing 22 — 1 that does not divide 22" — 1 for m < n.

[2] Now we dive right in. Show that for any integer a, and d a factor of m, ged(®,,(a), a®—
1) divides ®,, /4(1).

[4] Show that p | ®,(a) implies that n/d is a power of p, and p? | ®,(a) implies n = d.
Consequently, prove the following lemma:

Lemma. The following holds for positive integers m < n:
(i) ged(®Pp(a), ®,(a)) > 1 only when n/m is a prime power of some prime p.
(ii) Even if n/m is a prime power of p, p? does not divide ®,(a) (so the ged is 1 or p).

(You may use this fact about “orders” without proof: if d is the minimal positive integer
such that p | a® — 1, then p | a™ — 1 if and only if d | n.)

[5] Prove the ineffective version of Zsigmondy’s theorem given at the start of this section:
for all @ > 2021, n > 3, there exists a prime factor of ™ — 1 which does not divide ¢ — 1
for any m < n.

[2] You may suspect that the assumed size conditions on a,n are somewhat “loose”.
This can be improved to obtain almost all pairs of integers (a,n), with the following
exceptions:

14
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e a =1, because then @™ — 1 = 0 and that’s bad.

e n=1,a =2, because then a” — 1 = 1 and it has no prime divisors
e An infinite family of (a,n) with fixed n.

e A lone case (a,n).

What exactly are the last two cases above? (We do not require a proof that these are the
only cases, just that these are counterexamples.) In fact, the full version of Zsigmondy’s
theorem tells us that these are the only counterexamples.

15



